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Subtraction Tables

~
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(@)
6

(1 - 1= o)
2 -1 = 1
3 -1= 2
4 -1 =3
5 -1 = 4
6 - 1= 5
7-1=6
8 - 1= 7
9 - 1= 8
10-1= 9
11 -1 =10
12 - 1 = 11

(13 - 1 =12
©

(5) )@

(5 5 = 0\
6 5 = 1
7 5 = 2
8 5 = 3
9 5 = 4
10 5 = 5§
11 5 = 6
12 5 = 7
13 5 = 8
14 5 =9
15 5 =10
16 5 = 11

\17 5 = 12)
©

(9

(9 9 = 0\
10 9 = 1
11 9 = 2
12 9 = 3
13 9 = 4
14 9 = §
15 9 = 6
16 9 = 7
17 9 = 8
18 9 = 9
19 9 =10
20 9 = 11

\21 9 = 12)

e

O
20
(2 2 = 0)
3 - 2= 1
4 - 2 = 2
5 - 2= 3
6 - 2 = 4
7-2=5
8 - 2= 6
9 - 2= 7
0- 2 = 8
1M1 - 2= 9
12 - 2 = 10
13 - 2 = 11
(14 - 2 =12
©
(6)
(6—6=0\
7 - 6 = 1
8 - 6 = 2
9 - 6 = 3
10 - 6 = 4
1 - 6 = 5
12 - 6 = 6
13- 6 = 7
14 - 6 = 8
15 - 6 = 9
16 - 6 = 10
17 - 6 = 11
\18—6=12)
O
Ca9
(10 -10= 0
11 - 10 = 1
12 - 10 = 2
13 -10= 3
14 - 10 = 4
15-10= 5
16 - 10 = 6
17 - 10 = 7
18 - 10 = 8
19 - 10 = 9
20 - 10 = 10
21 - 10 = 11
22 - 10 = 12,

©
(3)

(3 - 3= 0)
4 - 3 = 1
5 -3 = 2
6 - 3 = 3
7 -3= 4
8 -3= 5
9 - 3= 6
0 -3 = 7
11- 3 = 8
12 -3 =9
13 - 3 = 10
14 - 3 = 11

\15—3=12)
©

(7)

(7—7= 0\
8 - 7 = 1
9 - 7 = 2
10 - 7 = 3
1 - 7 = 4
12 - 7 = 5
13 - 7 = 6
14 - 7 = 7
15 - 7 = 8
16 - 7 = 9
17 - 7 = 10
18 - 7 = 11

\19—7=12)
(@)

1)

(11 -11= 0)
12 - 11 = 1
13 - 11 = 2
14 - 11 = 3
15 - 11 = 4
16 -11= 5
17 -1 = 6
18 - 11 = 7
19 - 11 = 8
20 - 11 = 9
21 - 11 = 10
22 - 11 = 11

(23 - 11 = 12

©
(@)

(4 - 4 = 0)
5§ - 4 = 1
6 - 4 = 2
7 - 4= 3
8 - 4= 4
9 - 4= 5
0 - 4 = 6
M- 4= 7
12 - 4 = 8
13- 4 = 9
14 - 4 = 10
15 - 4 = 11

(16 - 4 = 12
©

(8)

(8—8= 0\
9 - 8 = 1
10 - 8 = 2
11 - 8 = 3
12 - 8 = 4
13 - 8 = 5
14 - 8 = 6
15 - 8 = 7
16 - 8 = 8
17 - 8 = 9
18 - 8 = 10
19 - 8 = 11

\20_8:12/
O

12

(12 - 12 = 0
13 - 12 = 1
14 - 12 = 2
15 - 12 = 3
16 - 12 = 4
17 -12= 5
18 - 12 = 6
19 - 12 = 7
20 - 12 = 8
21 -12= 9
22 - 12 = 10
23 - 12 = 11

\24_12:12}
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( Subtraction )

-
1) 8 2) 3 3) 5 4) 10
- 3 - 1 - 4 2
5) 1 6) 10 7) 8 8) 2
- 1 - 3 - 5 0
9 6 10) 4 11) 7 12) °]
- 2 - 4 - 1 6
13)  Smith assembled a tower with 9 building blocks. If he takes 3 building
blocks off, how many blocks tall is the tower now? —
e,
14)  Olivia shares 5 slices of pepperoni pizza with her friend. If there were
8 slices in total, how many slices remain?
\-
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e N\
Find the missing number in each problem.
1) 9 2) 4 3) 4)
- - - 1 - 5
8 0 4 5
5) 2 6) 7) 8 8)
- - 4 - - 6
0 6 2 3
9) 10) 11) 10 12) 4
— 4 — ‘I — —
2 7/ 8 1
13) 7 14) 9 15) 3 16)
- - - - 2
1 5 3 2
17) 18) 5 19) 20) 7
- 3 _ - 7 _
6 2 1 0
- /
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(Equivalent Subtraction Sentence)

Find the missing number in each problem.

n»n 9 - 5 = - 3 2 1 - 1 =
3) 3 - 3 = 8 - 4) - 8 =
5 5 - = 10 - 7 e) 7 - 1 =
7 7 - 0 = - 2 8 5 - 4 =
9 3 - = 9 - 7 100 9 - =
11) - 4 = 4 - 1 12) -0 =
13 2 - 1 = 3 - 14 8 - 4 =
15) - 3 = 10 - 5 16) 10 - =
177 10 - 2 = 9 - 18 6 - 3 =
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(= —0\
- .‘ Missing Numbers

Find the missing number in each problem.

1) -2
3 10 -
5 7 -
7) - 8
9 4 -
11) - 1
13) -0
15) 8 -
17) 3 -
19) - 3

-

4

2)

4)

6)

8)

10)

12)

14)

16)

18)

20)

10

10
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- (Subtraction ) eonbng N

) 62 - 3 = 2) 25 - 7 = 3) 41 - 4 =
4 94 - 6 = 5 50 - 1 = 6) 73 - 8 =
7) 31 - 2 = 8 8 - 9 = 9 22 - 3 =
100 78 - 9 = 1) 13 - 5 = 12) 65 - 7 =

13)  Abraham bought 32 soap dishes. If he gave 6 of them to his brother,
how many soap dishes remain with him?

14)  Mike spotted 14 butterflies on a camping trip. If 9 of them flew away,
how many butterflies remain within his sight?

- J
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No regrouping

13)

17)

54

88

36

79

10)

14)

18)

17

31

59

26

11)

15)

19)

43

96

18

64
- 40

4)

12)

16)

20)

97

60

49

85

37
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- [Z-Digit Su btraction] b
1) 62 2) 94 3) 21 4) /73
- 58 - 36 - 14 - 47
5) 34 6) 52 7) 85 8) 41
- 15 - 48 - 66 - 23
9) 70 10) 26 1) 63 12) 95
- 64 - 19 - 35 - 78
13) Steve and Greg worked on a feather crafts project. Steve made 82
craft pieces and Greg made 56. How many more craft pieces will Greg
need to make, to match up to the number that Steve made?
14)  Miller bought a new set of surround sound speakers at a discounted
price of $69. If they were originally priced at $98, how many dollars
did Miller save on the purchase?
08 NO)
-
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- (Missing Digits)

Find the missing digit in each problem.

1) 9 7 2) 4 3) 3

-

9 3 10) 6 9 11) 1

- 67 -7 -1
16 32

13) 6 14) 8 5 15) 5

- 33 -1 -

3 4 6 6 2

17) 2 5 18 2 19) 7

-1 - 34 -

15 8 5

12)

16)

20)
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- [Cr'oss-number puzzle}

~
Solve the puzzle.
1) 29 2) 91 3) 47 4) 70 5) 62
- 13 - 44 - 26 - 31 - 7
6) 86 7) 58 8) 13 9) 36 10) 95
- 8 - 6 - 2 - 19 - 4
Down
1) 56 2) 15 3) 97 4) 62 5) 34
- 37 - - 69 - 8 - 21
6) 79 7) 51 8) 41 9) 83 10) 98
- 2 - 3 - 12 - 50 - 1
. J
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